U BEEBRTEYENE L BEER
SR RAE SHEN S RFREC) [$3125]

W

EEXK

n=00F > (x+1)*"" +x*"? =x" +x+1

N

Bk

(¢ + X+ [(x+1)* +x°2]
En=10F > (x+1)*" +x"? = (X +3x% +3x+1) + x*=(X* + x+1)(2x +1)
O + X+ [(x+1)* + x]
EEAFAEZ AR p(x) > (45 (X+D)* " + X2 = p(x)(X* +x+1)
BEn=k+10F > (X+D)™?+x° = (x+1)* (x+1)** + x- x*+?2
= (X2 + X+D)(X+D ™ + x(X+DZ* + x- x*+2
= (X* + X+ (X +D** + X[(x +1)% 4+ x*+?

= (% +X+D(X+D)*™* + X[ p(X)(X* + X +1)]
= + X+ D{(x+D** + xp(x)}

HUEHBERERAEISAL (¢ +x+D)|[(x+D)°" + x"] > BRI e N O{OHRAL -

MU ADCG fy 771 » 432BEBG L 4REX AD

FrAADGF B—HEA=AJF - DG FibsE

ADGF 4MEZEIELE4RE: DG 1yE: - 2

71 ADCG SMEEIELL © K F
A-F-D-C-G =B ILE -

FirlL > (Bl ~ACF = [E[EFf £ ADF -

AD1BC= ~EBD+ ~BED=90= ~FDE+ ~BED -

Frbl» ~EBD= ~FDE= ~FDA= /FCA -
K~ABC= ~ACB: fill > ~ABF= /BCF -

f(n)/n — f(n-1)/(n-1) = f(n-1)/n(n-1)
(n-1)f(n) — nf(n-1) = f(n-1)



(n-1)f(n) = (n+1)f(n-1)

f(n) = (n+1)f(n-1)/(n-1)

f(n) = f(n-1)*(n+1)/(n-1)=f(n-2)* (n+1)n/(n-1)(n-2)
=f(2)*(n+1)n...4/(n-1)(n-2)...2, f(2)=1
= (n+1)n/6

f(120) = 2420

. BEEE:
W B RdLERE > W RS B(B+a+c)=0
b0 . p#0 = p+a+c=0

4 p=—(a+c) RAFER x*+2ax+b*=0
B a® =Db® +c?

WA BEA=ZAE . HE KA IR EE R 1

SEER
x1=rsin9:—3 ’ x2=r25in29:§
" t‘COSHZl
4
f#E taw=v3 = 0:% h5e r:%



